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’ 100kN/mM%E#BZ 5 -l -~ - -|3m%Ei#BZ5 -~ - - —-| 100kN/mM%#8% % - -~ - —-|3mx#Z5 -~ - - -
s 1.00/0.00 ~ 558 69.71] =hLls 000 ~ 0.00| 1.61 8.62 s 1.00] 500 ~ 6.44 69.71] =nklst | 500 ~ 6.44| 1.61 8.62
9 100kN/ Mm% 5 -l -~ - -|3m%Ei#BZ5 -~ - - —| 100kN/mM%#8% % - -~ - —-|3mx#Z5 -~ - - -
s 1.00/0.00 ~ 546 68.14] =hLls |0.00 ~ 546| 1.80 9.61 s 1.00] 5.00 ~ 6.02 68.14] x| 500 ~ 6.02] 1.80 9.61
3 100kN/mM%BZ 5 -l -~ - -|3m%Ei#BZ5 -~ - - —| 100kN/mM%#8% % - -~ - ~-|3m&x#Z5 -~ - - -
s 1.00/0.00 ~ 5.66 70.74| =h LS 000 ~ 0.00| 1.61 8.61 s 1.00] 500 ~ 6.59 70.74| Z=h 4t | 500 ~ 6.59| 1.61 8.61
A 100kN/m%# 2 % 1.00/0.00 ~ 1.26 119.03|3mZEBZzB| - ~ - - —| 100kN/m%i#B 2% 1.00( 10.81 ~ 15.35 119.03| 3ImE# x5 -~ - - -
s 1.00/1.26 ~ 9.04 100.00f Zh st |0.00 ~ 9.04] 2.26 12.08 s 1.00] 5.00 ~ 10.81 100.00| =hList | 500 ~ 15.35| 2.26 12.08
5 100kN/m##B %% 1.00{0.00 ~ 145 122.04|3m%*x#BZ 5 -~ - - —| 100kN/mM%Z#BZ % 1.00] 10.54 ~ 15.28 122.04| 3m%#BZ % -~ - - -
s 1.00]1.45 ~ 9.23 100.00f Z=h st |0.00 ~ 9.23] 240 12.82 s 1.00] 5.00 ~ 10.54 100.00| =hList | 500 ~ 15.28] 240 12.82
6 100kN/m##8 %% 1.00{0.00 ~ 1.80 127.61|3m%x#BZx 5 -~ - - —| 100kN/mM%Z#BZ % 1.00] 10.67 ~ 16.90 127.61|3m%#BZ % -~ - - -
s 1.00]1.80 ~ 9.58 100.00f Z=h st |0.00 ~ 9.58| 247 13.21 s 1.00] 5.00 ~ 10.67 100.00| Z#hList | 500 ~ 16.90| 247 13.21
7 100kN/m##B %% 1.00{0.00 ~ 1.00 115.00| 3m#*#BZx % -~ - - —| 100kN/mM%Z#BZ % 1.00] 10.69 ~ 13.96 115.00| 3m%#BZ % -~ - - -
Lo 1.00{1.00 ~ 8.78 100.00f Z=h st |0.00 ~ 8.78] 2.10 11.25 Lo 1.00] 5.00 ~ 10.69 100.00| =hList | 500 ~ 13.96] 2.10 11.25
8 100kN/ Mm% X % 1.00{0.00 ~ 0.65 109.62| 3m%E#E 25 -~ - - —| 100kN/mM%#BZ % 1.00] 11.06 ~ 13.25 109.62| 3m%EHEZ 5 -~ - - -
Zh st 1.00]0.65 ~ 843 100.00f =1 A4t | 0.00 ~ 8.43| 2.04 10.92 s 1.00] 5.00 ~ 11.06 100.00| =hllst | 500 ~ 13.25| 2.04 10.92
9 100kN/ Mm% X % 1.00{0.00 ~ 1.09 116.40| 3mZE#B 25 -~ - - —| 100kN/mM%#BZ % 1.00] 10.64 ~ 13.93 116.40| 3m%EH#Z 5 -~ - - -
Zh st 1.00{1.09 ~ 8.7 100.00f =1lA4t+ |0.00 ~ 8.87| 2.26 12.12 zHnLs 1.00] 5.00 ~ 10.64 100.00| =nlist | 500 ~ 13.93] 2.26 12.12
10 100kN/ Mm% X % 1.00{0.00 ~ 1.62 124.70| 3m%E#B 25 -~ - - —| 100kN/mM%#BZ % 1.00] 10.55 ~ 16.00 124.70| 3m%EH#Z 5 -~ - - -
st 1.00{1.62 ~ 940 100.00f Zhldst 1 0.00 ~ 9.40| 2.41 12.89 zHnLs 1.00] 5.00 ~ 10.55 100.00f =nllst | 500 ~ 16.00( 2.41 12.89
» 100kN/MZ#8 2 % -l -~ - -|3m%EiHBZ % -~ - - —| 100kN/mM%#BZ % - -~ - —-|3m%iBx 5 -~ - - -
st 1.00/{0.00 ~ 6.56 82.75| #nList 000 ~ 0.00| 1.57 8.42 zHnLs 1.00] 500 ~ 874 82.75| =nLst | 500 ~ 8.74| 1.57 8.42
19 100kN/mMZ#8 2 % -l -~ - -|3m%EiHBZ % -~ - - —| 100kN/mM%#BZ % - -~ - —-|3m%iBx 5 -~ - - -
ZhLst 1.00{0.00 ~ 5.64 7041 =hLlst 000 ~ 0.00| 1.57 8.40 zHnLs 1.00] 5.00 ~ 6.80 7041 =4t | 500 ~ 6.80[ 1.57 8.40
100kN/MZ#8 2 % ~ 3mEHBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhst ~ ZhLst ~
100kN/M%#28 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhst ~ ZhLst ~
100kN/MZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zh st ~ zhs ~ zhst ~ st ~ |
BEFR




